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-1,15

HP

R
Z
U

T
 P

A
R

T
E
R

U
 S

K
A

L
A

 1
:1

0
0

M4 - 58,6m2

M6 - 44,2m2

M1 - 44,7m2

M2 - 51,1m2

M3 - 56,1m2

M5 - 70,8m2

M3

M4

M5

M2

M6

M1

pokój+a.kuchenny

A: 35,0 m2
pokój+a.kuchenny

A: 21,6 m2

pokój+a.kuchenny

A: 31,7 m2

pokój+a.kuchenny

A: 29,2 m2

pokój

A: 11,4 m2

pokój

A: 13,6 m2

pokój

A: 15,0 m2

pokój

A: 11,9 m2

pokój

A: 8,0 m2

łazienka

A: 5,2 m2

pokój

A: 13,3 m2

pokój

A: 10,9 m2

hol

A: 9,6 m2

hol

A: 3,0 m2

pokój+a.kuchenny

A: 25,3 m2

łazienka

A: 5,2 m2

łazienka

A: 5,6 m2

łazienka

A: 4,9 m2
łazienka

A: 4,0 m2

łazienka

A: 4,0 m2

pokój

A: 12,1 m2

pokój+a.kuchenny

A: 29,2 m2

hol

A: 4,7 m2

hol

A: 4,9 m2

hol

A: 3,4 m2

hol

A: 2,8 m2


